DISCUSSION 9

Problems

RAY OPTICS

Set up ray-tracing diagrams to scale for the given lens and mirror configurations. Locate and

characterize the images by ray tracing, and use the thin lens equation to find the image distances

d; and magnifications M.

Converging mirrors

For these, assume the focal length is 30 cm.
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What does the sign of the image distance tell you about the image? = real, - = vivtva /

What does the sign of the magnification tell you about the image? + = vpv' 9 hr, — = 11per wecl

Diverging mirrors
For these, assume the focal length is —30 cm.
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Converging and diverging lenses

Assume focal lengths of £30 cm, and use the same object distances as with the mirrors. The
equations are identical, so you don’t need to repeat them. Do the ray tracing exercises, and

answer the same questions.
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